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More problems on definite integral

We have computed the values of some definite integrals:

∫
1

0

x dx =
1

2
and

∫
1

0

x2 dx =
1

3
.

By similar methods, we could also compute

∫
3

1

x dx = 4,

∫
0

−2

x dx = −2, and

∫
0

−2

x2 dx =
8

3
.

For each of the following, use these results and properties of definite integral to find
the value of the given definite integral.

1.

∫
3

0

x dx

2.

∫
1

−2

x dx

3.

∫
1

−2

x2 dx

4.

∫
1

0

5x dx

5.

∫
1

0

(x + x2) dx

6.

∫
1

0

(4x − x2) dx

7.

∫
−2

1

x dx

8.

∫
1

−2

(3x2
− x) dx


